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Calculus IV Quiz7 Summer 2000 7/20/2000

Green's Theorem (provided the proper conditions apply):
Pdx + Qdy =
c
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1. Use Green’s Theorem to computef ydx - xdy where C is the first-quadrant arc of a circle
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(centered at the origin) of radius 3 oriented counterclockwise followed by the line segment from

(0,3) to (0,0) and then the line segment from (0,0) to (3,0). :
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2. Compute the curl of the vector field F(x,y,z) = xy j + xyz k.
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3. Compute the divergence of the vector field F(x,y,2) = X1 - €7J +siny
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